Unit Conversions Revisited and using algebraic Formulas
Due Monday, October 23rd at 9 a.m.


Name_____________________

This assignment is designed to give you more practice with unit conversions and doing calculations using algebraic formulas.  SHOW YOUR WORK!!!!!!!!!!!!!!!!!!!!!
1) Convert 66 inches to cm.

2) Convert 750 mL to quarts.

3) Convert 5.52 x 103 seconds to minutes.

4) Convert 800 meters to yards.
5) Convert 1250 mL to gallons.

6) Convert 36 grams to pounds.

7) Convert 175 pounds to kilograms.

8) Convert 0.5 quarts to liters.

9) The lethal concentration of acetylsalicylic acid (aspirin) is 3360 micrograms per milliliter of blood.  What is the lethal concentration of aspirin in milligrams per liter?
10) It takes 100 tablets at 300 mg of acetylsalicylic acid per tablet to kill a 75 kg man.  How many tablets would a man who weights 250 pounds need to ingest?
11) The average adult has about 5 liters of blood.  Convert this to quarts.
12) A spherical shotgun pellet has a diameter of 0.085 inches and there are 450 such pellets in an ounce.  Calculate:

a. the pellet diameter in mm.

b. the mass of one pellet in grams

13) A human hair has a diameter of 65 m.  Convert this to meters.

14) Convert 75 oF to Celsius.  The formula you should use to convert Fahrenheit to Celsius is:
TCelsius = 
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15) A driver was hurt when a truck skidded 50 feet into her car.  How many meters did the truck skid?

16) The dimensions of a short cylindrical fiber are measured to be: Length (L) = 1.24 mm and Diameter (D) = 56 m.  Calculate the volume (V) of the fiber in m3.  HINT:  The volume of a cylinder can be calculated using the formula V= r2L where r is the radius of the cylinder.  Remember that the D = 2r
17) If the legal limit for alcohol in blood is 0.8 mg/cc, express this in grams per liter.

18) A spherical blood droplet has a diameter of 2.7 mm.  Calculate its volume, expressing your answer in m3.  Note:  The volume of a sphere is given by            V = 4/3 r3 where r is the sphere radius.  

19) The width of a chisel mark on a window frame was measured to be 1.4 cm.  Convert this to millimeters.

20) An arson investigator found 621 gallons of kerosene at a fire scene.  Convert this to liters.

21) A breathalyzer test requires 1.5 liters of breath for accuracy.  If a typical male exhales at 3 liters of breath per minute, how long would he need to blow into the breathalyzer?
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